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p =
PV (COST )

PV (REV )
Effective annual rate =

(
(1 +

discount

discounted price
)

365
extra day credit

)
− 1

Economic order size = Q =

√
2 ∗ sales ∗ cost per order

carrying cost

2



FINC201 Formula Sheet

ROE =
net income

equity
After tax operating income = (1− tax rate) ∗ interest expense+ net income

ROA =
after tax operating income

total assets

ROC =
after tax operating income

total capitalization

T imes interest earned =
EBIT

interest payments

Cash coverage ratio =
EBIT + depreciation

interest payments

Current ratio =
current assets
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Quick ratio =
cash+marketable securities+ receivables
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Cash ratio =
cash+marketable securities

current liabilities

Market to book ratio =
market value of equity

book value of equity

EV A = after tax operating income− (cost of capital ∗ total capitalization)
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re= ra + D/E (ra -rd)

re = ra + D/E x (1-T) x (ra - rd)

P = 100 -[(m/12) x d]

Gilbert Nartea
FCF = EBIT (1-t) + Dep - New Cap Ex - Additional NWC


Gilbert Nartea
FCF = NI + Int - Int(t) + Dep - New Cap Ex - Additional NWC




